
1S01

± 0,000

± 0,000

+ 0,040

1S03 1S04 1S05 1S06

1S07 1S08

1S11

1S17

1S23

1S22

1S21

-0,050

1S12

1S16 1S19

1S20

1S15

1S13

1S14 1S18

1S09 1S10

1S02

+ 0,260

+ 0,470

- 0,020

- 0,140

- 0,110

814548

≈ 850

≈ 1470

-0,560

+ 0,040

-0,560

+ 0,040

-0,560

- 0,070

01.01

01.69

01.73

01.74

01.76

01.77

01.23

01.82

01.80

01.79

01.78

01.66

01.25

01.27

01.26

01.24

01.67

01.30

01.29

01.28

VÍ
DE

ŇS
KÁ

01.33

01.31

01.71

01.72

01.70

01.34

01.36

01.35

01.88

01.77

01.64

01.22

01.65

REMEŠOVA

01.75

01.83

01.84

01.86

01.85

01.41

01.42

01.02

01.37

01.38
01.39

01.39A

NERUDOVA

01.50

01.51

1S88

01.15

01.14

01.13

01.11

01.12

01.10

01.43

01.03

01.05

01.49

01.48

01.46

01.47

01.09

TŘ
ÍD

A 
SV

OB
OD

Y

01.08

01.45

01.06

01.07

01.81

01.89

01.68

01.04

01.90

01.87

01.32

PŮDORYS  1PP

žaluzie

01.44

3x STÁNÍ

13x STÁNÍ

11x STÁNÍ

7x STÁNÍ

6x STÁNÍ


